HKCEE 1989 Iron & Steel Industry in China

a. Locational pattern of iron and steel industry





(10 marks)


Early 1950s (p.162)
Late 1950s (p.163)
Early 1970s

Location
NE, coast
N, centre
W

Example
Shanghai, Anshan
Baotou
Urumqi

Reasons: 

Policy= population redistribution/decentralization carried out by the government under the 5-yr plan
Problems before this policy was carried out:

· population concentrate along the coast/E
· population > resource => population problem along the coast: overpopulation
· problem of the whole China: regional imbalance, strategic problem
Advantages after this policy was carried out:

· population will move inland

· the population can help to exploit the rich resources, eg. Iron one
· it helps the development of industries & provide lots of jobs
· the living standard of this region will be better

b. locational advantages & disadvantages : assess its locational factors

Determine whether the following factors belong to its advantages or disadvantages
* Students may have problems in answering this Q as we will learn the details in the 

  topic: urban centre – Shanghai later.  Therefore you can ignore this Q for the time 

  being.  Remember topics can be combined together in 1 question.


Advantages (10 marks)
Disadvantages (4 marks)

Location


Coastal location

· cooling, sea transport

· easy importation & exportation at port

· port facilities

· sheltered harbour
· shallow harbour -> large carriers cannot be fully loaded

· silting

Transport


Good: route focus (land & sea)
Dense city -> congestion

Land


Lowland & reclaimed land for further expansion


Raw Material



Lacking, used up

Labour


Large as Shanghai = dense city -> skilled labour


Linkages


Good links with other iron & steel plants


Market


Large as Shanghai = industrial & urban centre


Technology & management


Good as many skilled labour


Others



Lots of development -> Environmental problems e.g. pollution

HKCEE 1991 Industry in Hong Kong

ai.
1959:17.64%

    1989:7.57%










(2 marks)

aii. Trend: Share of textile products decrease





(1 mark)

iii. Reasons for decreasing importance of textile industry


(13 marks)

= unfavourable locational factors

1. Industrial policy has changed from centralization to diversification
2. Importance of other industries increase, e.g.Hi-technology
3. Problems faced by textile industry

· Protectionism, large import tariff, quota set by other countries

· great competition from SE Asian countries, e.g. Thailand, China

· high labour cost & stricter pollution policy in HK 

-    =>higher production cost

4. Industries shift to locate at Shenzhen

bi. Pull factors = favourable factors



(4 marks)

Pull factors
Shenzhen
Advantages

Land
Large, cheap
expansion

Labour
large
cheap

Government
Special Economic Zone
Large support

bii. Industries remain at HK because of favourable factors
(4 mark)

Pull factors
Hong Kong

Infrastructure
good

Government
supportive

Services
Large = financial, banking

Labour
skilled

* Industries remain despite the favourable factors have lost = industrial inertia

* This is the pattern in 1991, but in the 21st century, most of the favourable factors for (light) industries have disappeared, except the Quaternary industries (IT) can survive in HK.  Most industries in HK have shift back to China.

HKCEE (1995) Iron & Steel Industry in China

a. Favourable Factors at X               





(7 marks)                                                                                        

History of development
Long, since Japanese Occupation

Availability of raw material
Large, iron ore

Availability of power
Large, coal

Land
flat

Location
Coastal, port

Labour
Large since near big cities

Infrastructure
good

Government
support

Market
Large since near big cities

bi. Difficulties encountered at Z = unfavourable factors for location 
(4 marks)

Location
remote

Transport & Infrastructure
poor

Population
Sparse -> less labours

Market
small

Environment
harsh

Water Supply
low

bii. Why did the government need to set up industry at Z?
Problems before this policy was carried out:

· population concentrate along the coast/E
· population > resource => population problem along the coast: overpopulation
· problem of the whole China: regional imbalance, strategic problem
Advantages after this policy was carried out:

· population will move inland

· the population can help to exploit the rich resources, eg. Iron one
-  it helps the development of industries & provide lots of jobs
-  the living standard of this region will be better

ci. high rate of development at Y (1 mark)

cii. Y has high rate of development because                          (7 marks)

1. application of modern technology with large capacity

- e.g. integrated steel mill
2. government support

3. Y = Shanghai = industrialization & urbanization centres -> great local market

4. locational advantages of Y

· e.g. quote some examples from Qa
* For Qcii, the case is Shanghai, the details about Shanghai will be learnt later.

HKCEE 1996 Industry in Hong Kong

a. Changes












(8 marks)


1971
1991

Location
Urban, along Victoria Harbour
New Territories, New Towns

Example
Kowloon, N of HK Island
Tai Po, Yuen Long

Reasons

· decentralization policy by government

· Problems faced before: overcrowded, less facilities

· Advantages encountered later: cheap land, extensive land, good transport ->  shorten the time & transport cost

· The movement is made possible because of development of transport
b & c. Problems faced












Factors
Problems (4 marks)
Solutions (4 marks)

Labour


High labour cost
· Skilled labour -> develop high technology oriented industry

· mechanization

Competition


Great competition

Protectionism, tariff, quota from other countries
· stress quality

· diversification

· relocate to Shenzhen (with local government support)

Government


Stricter pollution control
- relocate to Shenzhen (looser control)

Land


High land value
Relocate to Shenzhen with lower land vlaue

Production Cost 


high
Lower the production cost, e.g. Relocate to Shenzhen

b. Service industry becomes more important





(6 marks)

- people demand more services from service industries because 

· high population 

· rapid growth of financial activities & tourist industry in HK

· higher education & living standard

- the changes is because of HK’s economic transformation

· - primary & secondary industry become less important
HKCEE 1990 Iron & Steel Industry in Japan

ai. Factors = locational factors = physical + human


(4 marks)

Factors
Japan
Advantages

Availability of raw material
Iron ore (Muroran)
Save transport $

Availability of power
Coal (Joban)
Save transport $

Land
Cheap

coast
Large area

Sea transport & expansion

Transport
Sea transport
Save transport cost

Government support
yes
Tax exemption

* MUST support your answers with examples of Japan, e.g. name of cities

aii. Problems face by the plants today = problems of locational factors(5 marks)

 Factors
 Japan

Availability of raw material & power
Used up

Labour supply
Small since sparse population

Infrastructure
Inadequate since saturated

Market
Small, away from local market (cities & industrial centres)

Machines
Old

Productivity
Low

Cost of production
High

Competitive power with other plants
low

b) locational advantages (describe what you can see from the photos only)
(9 marks)

Factors
Japan
Advantages

Location


1. coast

2. port
1. sea transport, easy import & export

2. port facilities, sheltered harbour

Transport
Good (sea, land)
Save transport cost

Land


1. flat

2. reclaimed
expansion

Market


Near urban areas & industrial centres
Large local market

Large labour

c) Environmental problems of iron and steel industry = heavy industry
(6 marks)

1. pollution

a) combustion -> air pollution

b) hot water from plant pour into river => thermal (heat) pollution & water pollution

  => aquatic (water) ecosystem being affected
c) waste pollution

d ) visual pollution
e) noise pollution

2. burning of fossil fuels -> emit co2 => acid rain & smog

3. Reclamation may damage the coastal landscape
HKCEE 1994 Iron & Steel Industry in Japan

a. locational advantages = assess the locational factors


(8 marks)

Factors
 City A
Advantages

Location


1. coast

3. port
1. sea transport, easy import & export

2. port facilities, sheltered harbour

Transport 


Good (sea, land)
Save transport cost

Market


1. flat

2. reclaimed
expansion

Land


Near urban areas & industrial centres
Large local market

Large labour

Availability of raw material
Iron ore
Save transport cost

No need to import

Labour


Near urban cetnres
Cheap labour

b. iron and steel industry has declined = problems have been found

(5 marks)

Factors
City B

Relief
Hilly, less lowland

Transport
Poor

Market
Small

Labour
Little as too remote

Availability of raw material
Little raw material as exhausted

Competition from other plants
Large

Equipment
small

c. Technology = production method (machines) + transport



(6 marks)

Types of modern technology:

1. new processing methods

· decrease the importance of raw material & power
· coal is being substituted, e.g. scrap iron

2. improved transport technology

· e.g. large bulk carriers
3. modern port facilities

Result of modern technology on the location pattern of iron and steel industry:

· reduce transport cost

· decrease the importance of raw material & power
=    increase the importance of other factors, e.g.market

· location changes from raw material oriented to market oriented

· plants also like to locate along the coast/market

· plants tend to locate together to enjoy the economies of scale = agglomeration

d. Environmental problems of iron and steel industry = heavy industry
(6 marks)

1. pollution

a) combustion -> air pollution

b) hot water from plant pour into river => thermal (heat) pollution & water pollution

  => aquatic (water) ecosystem being affected
c) waste pollution

d ) visual pollution
e) noise pollution

2. burning of fossil fuels -> emit co2 => acid rain & smog

3.Reclamation may damage the coastal landscape
